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DRFAE S 12E Z2RA 160, 460 149,500
2)B2AITY 15,060 12,500
2)x312 ATy 35,000 35,000
2)ZQ Al 60,000 60,000
2)20l3He &X| 50,400 42,000
NP 201X AN 2,000 2,000 0 179~180
= 1,800 1,800
2 200 200
301 YA 2,000 2,000 0
= 1,800 1,800
2 200 200
01 ABIBEEAH2(ZDEENE) 2,000 2,000 0
DINLRIB RS MEHREX 2,000 2,000
= 1,800 1,800
2 200 200
22ATH AIE2R 255, 105 258,606  A3,501 181~182
101 Q124 105,919 100,506] 3,587
04 JIZH22NSES 105,919 109,506  A3,587| O 2MT AErRIZ(0fAreH)
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esa 10,943 11,074
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01 Al22r2/H] 69,486 69,400 86
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NEES W 7] 30,900 30,814
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Ne2n2| JH KA 7,200 7,200
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